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Numere complexe
i’=-1 i* =1

Z=a+bl=r(cost+isint)

r =+/a? +b?

t = arctg %Jr k7
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2" =r"(cosnt-+isinnt)
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Teorema Imparfirii cu rest

Sume

Sl =14+24+34..cinnnon. +N= n(n2+1)
S, =1°+2°+3"+ +n2_n(n+1)°(2n+1)
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S,=r+2°+3+ oo _[n+DF
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Relariile lul Viete

ax® +bx?+cx+d
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Ecuatli reciproce

1. de gradul Il1

ax>+bx°+bx+a=0

2. de gradul 1V

ax* +bx*+cx?+bx+a=0/:x°

b a
ax’+bx +c+—+ =0
X X

= )+b(x+£)+C:O
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a(X +7

- Se noteaza

1 1
X+==y=> X+ =y° -2
X X
Ec.binoame si bipatrate:

ax”" +bx"+c=0,x"=y=

n —
X' —a=0 ay’+by+c=0



